
As you can see from below, the first step is to use existing criteria to identify the list of suitable products. Only when this is done do you move to assess clients’ 
sustainability preferences. From step 2, you can see the different potential outcomes; the first shows how a customer can adapt when none of the products meet 
his or her sustainability preferences. 

Assessment 
suitability: criteria 
of knowledge and 
experience, financial 
situation and 
other investment 
objectives 

Step 

1
Assessment of  
which suitable 
products, based 
on step 1, match 
the sustainability 
preferences

Step 

2
Pre-selection  
of potential 

suitable  
products 

Customer has sustainability preferences

1. No product meets the initial 
sustainability preferences of 

the customer 

2. Customer unable to specify 
a preference with regards to 

sustainability aspects

3. A product meets the initial 
sustainability preferences of 

the customer

Customer can adapt his/her 
sustainability preferences

Recommendation of  
product that has  

sustainability features 
matching customer’s  
generic preference as  

best as possible

Recommendation of product 
that matches the initial 

sustainability preferences

Recommendation of another 
product if it matches the 

adapted preferences


